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General Instructions to the Candidate :

This Question Paper consists of objective and subjective types of
57 questions.

This question paper has been sealed by reverse jacket. You have to
cut on the right side to open the paper at the time of commencement
of the examination. Check whether all the pages of the question
paper are intact.

Follow the instructions given against both the objective and
subjective types of questions.

Figures in the right hand margin indicate maximum marks.

The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the question

paper.
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Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and write

the complete answer along with its letter of alphabet.

10x1=10

(A)  Voltaire (B) Rousseau

(C) Karl Marx (D)  Montesquieu.
2. The success of democracy of the country depends on the
citizens’

(A) Education o (B) Illiteracy

(C) Economy (D) Unemployment.

3. The effective medium that brings social change is
(A) Telephone (B) Television

(C) Education (D)  Society.
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The author of the book, ‘Caste and Race in India’ is

(A)  Gandhiji (B) Nehru

(C) Dayanand Saraswati (D) G. S. Ghurye.

The word caste is derived from the Spanish and Portuguese

word
(A) Region (B) Casta
(C) Community (D) Coast.

Adivasis were called as ‘Backward Hindus’ by

(A) D. N. Majumdar (B) Bogardus

(C) Nanjundaiah
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A book about the tribes called ‘The Baiga’ was published by

(A) A.A.D. Louis (B) Nadell

(C)  Verrier Elwin (D) Bogardus.

The newsaper published by Bal Gangadhar Tilak was

(A) Harijan (B) Bombay Samachar

(C) Kesari (D) Bengal Gazette.

The mass media which was used effectively by the Allied

Nations group to fight against Hitler was

(A) Television (B) Internet

(C) Newspaper (D) Radio.

The city that is known as ‘Silicon Valley’ of India is

(A) Hyderabad (B) Bangalore

(C) Chennai (D) Kolkata.
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II. 11. Match the following list ‘A’ with list ‘B’ and write the

answer along with its letter of alphabet : 5x1=5
A B

a) Brahmo Samaj i)  Maharshi Karve

b) Arya Samaj ii) Raja Rammohan Roy

c) SNDT Women's University iii) Swami Vivekananda

d) Sri Ramakrishna Mission iv) Savithri Ba Phule

e) The first woman teacher v) Dayanand Saraswati

of India

vi) Sarojini Naidu

vii) Nivedita

III. Answer the following questions in a word or sentence each :

15x1=15

12.  What is social change ?

13. What is Industrialization ?
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15.

16.

17.

18.

19.

20.

21.

22.

23.
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What is the main objective of modernization ? B

Name the founder of Buddhism.

When was Vachana movement started ?

What is a tribe ?

What is Block system ?

What is mass media ?

Who published the newspaper ‘Mukanayaka’ ?
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24.

25.

26.

Who are computer illiterates ?

Why was adult education implemented ?

Who provided reservation to Non-Brahmins based on Miller’s

report ?

Answer the following questions in about two to four

sentences / points each :

27.

28.

29.

30.

OR300

24 x2 =48

Name the tools of communication.

Mention any two effects of Industrialization.

What is the difference between pakka food and kachcha

food ?

Which were the movements organized by Ambedkar to uphold

=]

[=]
the rights of untouchables ? %
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31.

32.

33.

34.

35.

36.

37.

38.
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Mention any two factors which caused the changes in the

caste system.

of caste panchayats ?

Name the famous women of the Vedic period.

What are the causes for the differences in the ratio of male

and female ?

women’s education ?

Hindu Marriage Act supports equality. How ?

Which are the different names of tribals in India ?

It is necessary to protect the traditional technology of tribes.

Why ?
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39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

Which aspects influence the social, economic life of the tribal

OEs |

Vi

communities ?

What is unplanned change ?

Which factors are responsible for social change ?

Mention any two characteristics of caste system.

Name the social reformers who fought against the caste

system in India.

Which are the major problems of tribal women of India ?

Mention the legislations related to assets of women.

studies ?
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49. Mention the types of mass media. S

R

50. Which are the changes that have taken place in the marriage

each :

51. List out the features of social change.

52. What are the impacts of formal education on the present

social life ?

53. Name the women organizations which fought for the

awareness and progress of women during the British period.

54. Explain the role of women in the freedom struggle of India.

55. Mention the approaches framed by the government of India

for tribal development.

56. What is the role of mass media in the present society ?
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I.

Answer the question in about eight to ten sentences / points :

1x4=4

57.
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